C:h Placing Decimals with Multiplication Name:

Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
1. Count the quantity of numbers to the L
right of the decimal for each factor, 2. Add theamountstogether. Y our answer
_ should have the same quantity of numbersto
5.809 has 3 _numbers right of the the right of the decimal. 2
decimal (5.809) 3+1=4
7.8 haslnumbez 7ng)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 4
5.
D) g475x212= 1796700
2 337x4= 13 48 6.
3) 424x7= 2 9 6 8 7.
4) 938x1532= 1 43 7 01 6 .
) 447x53= 2 36 9 1
9.
6) g5x4= 3 4 0
10.
7) 73x121= 8 8 3 3
8) 4.44x5967= 2 6 4 9 3 4 8 11,
9 _
) 197x3= 5 9 1 "
10) gx48-= 3 8 4
13.
11) 226x3231= 7 3020 6
14.
12) 7x341= 2 38 7
13) 6.76x7.693= 5 2 00 4 6 8 15
14) 34x4643= 157 86 2 16,
159 4671x7= 326 9 7 .
16) 51x9= 4 5 9
18.
17) 422x1.862= 7 85 7 6 4
19.
18) gx571= 34 2 6
19 56x8676= 48585 6
1-10 195(89(84|79|74|68|63]|58|53 47|
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Placing Decimals with Multiplication Name. Answer Key
Deter mine the placement of the decimal in each product. ANnswers
7 5.809 x 7.8 = 453102 N\
. 1 17.96700
L C.O — thequant!ty o (LU LS 2. Add the amounts together. Y our answer
right of the decimal for each factor. < .
_ ould have the same quantity of humbersto
5.809 has 3 numbers right of the the right of the decimal. 2 13.48
decimal (5.809) 3+1=4
7.8 has1 numbez 7|r|g)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N 29 68
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 4 14.37016
. s 23691
) 8.475x212= 1796700
2) 337x4= 1 3.4 8 6. 34.0
3 424x7= 2 9.6 8 - 8.833
4) _
0.38x 1.532 = 1 4.3 7 1 6 . 26.49348
5 447x53= 2 3.6 9
9 5.91
6) g5x4= 3 4.0
38.4
7) 73x121= 8 8 3 3 10
8) 4.44x 5967 = 2 6.4 9 3 4 8 1 7.30206
9 197x3= 5.9 1 5 23.87
10) -
8x4.8 3 8 . 4 13. 5200468
11) 226x3.231= 7.3 0 2 6
12 15.7862
12) 7x341= 2 3.8 7
2.697
13) 6.76x7.693 = 5 2 0 0 6 8 15, 32.69
14) 34x4643= 157 86 2 16. 45.9
15) 4671 %x7= 3 2.6 9 17.  1.85764
16) 51x9= 4 5 9
. 18, 34.26
17) 420x1862= 7. 85 7 4
18 19. 48.5856
) 6x571= 3 4.2 6
19) 56x8676= 4 85 8 5 6
95(89(84|79|74|68|63|58]|53 47|
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